
Detailed solution 
Model Test 51 (GS paper I) 
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 Pandavleni Caves – Nashik 
 
On Bombay-Agra road, about 2.5 kms. from the Taj Residency a small hillock is seen. It houses 
the famous Pandavlena caves. From a distance you can see the hillock and the  caves cut half 
way through the hillock. The climb is not very steep. The height of the caves must be about 300 
ft. from the foot of the hillock. 
�The name Pandavlena is a recent  version of the old name Trirashmi.  Pandavlena caves belong 
to the 1st Century B.C. to 4th Century A.D period. This group of 24  Buddhist caves is one of the 
most important in Western India, particularly interesting on account of the large rare inscriptions 
of considerable historical interest found here. They were excavated between the  second half of 
the 1st Century B.C. and the end of the 2nd Century A.D. by the Buddhist of the Hinayana Faith, 
who worshipped Buddha in symbolical form. The images of Buddha carving in some ofthe caves 
are later additions made by the devotees of the Mahayana faith in CIRCA 4th - 6th Century  A.D. 
The ancient name of the place was "Trirashmi" - the triple royal - the name of the Pandavlena 
caves being a modern application. The most important caves in this group are No. 18 and 20. 
Except cave No. 18 the remaining caves are Viharas or monasteries excavated in CIRCA 2nd 
Century A.D. Cave No. 3 was excavated at theorders of the Mother of the famous Satvahana 
King Gautamiputra Satkarni, who held sway over a large part of the Deccan in the 2nd Century 
A.D. 
 
 

2.  Correct Answer is : (a) Administrative development 



�

3. Correct Answer is : (a) Dr. B. N. Rau 

 

Sir Benegal Narsing Rau, CIE, (26 February 1887 – 30 November 1953) was an Indian civil 
servant, jurist, diplomat and statesman known for his key role in drafting the Constitution of 
India. He was also India's representative to the United Nations Security Council from 1950 to 
1952. His brothers were Governor of the Reserve Bank of India Benegal Rama Rau and 
journalist and politician B. Shiva Rao. 

One of the foremost Indian jurists of his time, Rau helped draft the constitutions of Burma in 
1947 and India in 1950. As India's representative on the United Nations Security Council (1950–
52), he was serving as president of the council when it recommended armed assistance to South 
Korea (June 1950). Later he was a member of the Korean War post Armistice United Nations 
Command Military Armistice Commission (UNCMAC). 

4. Correct Answer is : (b) 1 and 2 

Van Mahotsav is an annual tree-planting festival in India, celebrated in the first week of July. 
This movement was initiated in the year 1950 by India's then Union Minister for Agriculture, 
Kulapati Dr.K M Munshi. 

This festival has gained immense national importance and every year, millions of saplings are 
planted all across India in observation of the Van Mahotsav week. 

It is expected that every citizen of India has to plant a sapling in the Van Mahotsav week. It helps 
spread awareness amongst people about the harm caused by the cutting down of trees.People 



celebrate Van Mahotsava by planting trees or saplings in homes, offices, schools, colleges, etc. 
Awareness campaigns are held at various levels. Novel promotions like free circulation of trees 
are also taken up by various organizations and volunteers. 

5. Correct Answer is : (a) Speaker of the Lok Sabha 
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$��Correct Answer is : (d) 1928 
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7. Correct Answer is : (a) organo-mercurials 

The disease is generally managed by seed treatment with organomercurials and other fungicides 
such as benomyl, thiabendazole, carboxin, pencycuron, azoxystrobin or fenpiclonil. 

8. Correct Answer is : (b) Jawaharlal Nehru 

Timeline 

·  9 December 1946: The first meeting of the Constituent Assembly was held in the 

constitution hall (now the Central Hall of Parliament House). Demanding a separate 

state, the Muslim League boycotted the meeting. Sachchidananda Sinha was elected 

temporary president of the assembly, in accordance with French practice. 



·  11 December 1946: Rajendra Prasad and H. C. Mukherjee were elected as 

assembly president and vice-president, respectively. B. N. Rau appointed its 

constitutional adviser. 

·  13 December 1946: An "objective resolution" was introduced by Jawaharlal Nehru, 

laying down the underlying principles of the constitution. 

·  22 January 1947: Objective resolution unanimously adopted. 

·  22 July 1947: National flag adopted. 

·  24 January 1950: "Jana Gana Mana" adopted as the national anthem, with the first 

two verses of "Vande Mataram" the national song. Rajendra Prasad elected the first 

president of India. 

The assembly was chaired by Prasad when it met as a constituent body, and by G. V. 

Mavlankar when it met as a legislative body. It completed the task of drafting a constitution 

in two years, eleven months and eighteen days, at a total expenditure of � 6.4 million. 

 

9. Correct Answer is : (a) Gen. Collin Powell 

Colin Luther Powell   is an American statesman and a retired four-star general in theUnited 
States Army. He was the 65th United States Secretary of State, serving under U.S. 
President George W. Bushfrom 2001 to 2005, the first African American to serve in that 
position 

After the Vietnam War 

Powell served a White House fellowship, a highly selective and prestigious position, under 

President Richard Nixon from 1972 to 1973. 

In his autobiography, My American Journey, Powell named several officers he served under 

who inspired and mentored him. As alieutenant colonel serving in South Korea, Powell was 

very close to General Henry "Gunfighter" Emerson. Powell said he regarded Emerson as 

one of the most caring officers he ever met. Emerson insisted his troops train at night to 

fight a possible North Korean attack, and made them repeatedly watch the television 

film Brian's Song to promote racial harmony. Powell always professed that what set 

Emerson apart, was his great love of his soldiers and concern for their welfare. After a race 

riot occurred, where African American soldiers almost killed a Caucasian officer, Powell was 

charged by Emerson to crackdown on black militants; Powell's efforts led to the discharge 

of one soldier, and other efforts to reduce racial tensions. 



10. Correct Answer is : (b) zero 

Superconductivity  is a phenomenon of exactly zero electrical resistance and expulsion 

of magnetic fields occurring in certain materials when cooled below a characteristic critical 

temperature. It was discovered by Dutch physicist Heike Kamerlingh Onnes on April 8, 1911 

in Leiden. Like ferromagnetism and atomic spectral lines, superconductivity is a quantum 

mechanical phenomenon. It is characterized by the Meissner effect, the complete ejection 

of magnetic field lines from the interior of the superconductor as it transitions into the 

superconducting state. The occurrence of the Meissner effect indicates that 

superconductivity cannot be understood simply as the idealization of perfect 

conductivity in classical physics. 

The electrical resistivity of a metallic conductor decreases gradually as temperature is 

lowered. In ordinary conductors, such as copper or silver, this decrease is limited by 

impurities and other defects. Even near absolute zero, a real sample of a normal conductor 

shows some resistance. In a superconductor, the resistance drops abruptly to zero when 

the material is cooled below its critical temperature. An electric current flowing through a 

loop of superconducting wire can persist indefinitely with no power source. 

11. Correct Answer is : (a) Zilla Parishad 
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12. Correct Answer is : (c) Elopement 

Marriage by Elopement by Mutual Consent: 

When the man and woman wants to marry with each other but their parents are not ready 

for the marriage. The boy and girl by mutual consent run away and not return till they 

arrange their marriage. This is common in ho tribe. 

13. Correct Answer is : (b) 10 
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14. Correct Answer is : (d) 3 
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15. Correct Answer is : (d) Public, Private and Cooperative sector 
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16. Correct Answer is : (b) 1951 
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17. Correct Answer is : (d) None of the statements given above is correct 

Lok Adalat is a system of alternative dispute resolution developed in India. These are usually 
presided over by retired judges, social activists, or other members of the legal profession. 

Lok Adalat accepts the cases which could be settled by conciliation and compromise, and 
pending in the regular courts within their jurisdiction. 

TYPES OF CASES WHICH CAN BE TAKEN UP THEREIN 
 

A Lok Adalat has the jurisdiction to settle, by way of effecting compromise between the parties, 
any matter which may be pending before any court, as well as matters at pre-litigative stage i.e. 
disputes which have not yet been formally instituted in any Court of Law. Such matters may be 
civil or criminal in nature, but any matter relating to an offence not compoundable under any law 
cannot be decided by the Lok Adalat even if the parties involved therein agree to settle the same. 

 

18. Correct Answer is : (b) 2 
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19. Correct Answer is : (a) U.S.A. 



�

�
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20. Correct Answer is : (b) Justice V. Ramaswamy 



�V. Ramaswami  was the Justice of the Supreme Court of India and the first judge against 
whom impeachment proceedings were initiated in independent India. The only other judge 
to face impeachment proceedings is Justice "Soumitra Sen" of Calcutta High Court, 
proceedings against whom were initiated in Rajya Sabha on 17 August 2011�

21. Correct Answer is : (b) Articles 268 to 281 

Part XII  is a compilation of laws pertaining to the constitution of India as a country and the 
union of states that it is made of. This part of the constitution consists of Articles on 
Finance, Property, Contracts and Suits. 

Articles 264 - 291 on Finance Articles 264 - 267 General Articles 268 - 281 on Distribution 
Revenues between the Union and the States Articles 282 - 291 on Miscellaneous Financial 
Provisions�

22. Correct Answer is : (b) The Provincial Ministers 

The Act provided a dual form of government (a "dyarchy") for the major provinces. In each 

such province, control of some areas of government, the "transferred list", were given to 

a Government of ministers answerable to the Provincial Council. The 'transferred list' 

included Agriculture, supervision of local government, Health and Education. The Provincial 

Councils were enlarged. 

At the same time, all other areas of government (the 'reserved list') remained under the 

control of the Viceroy. The 'reserved list' included Defence (the military),Foreign Affairs, and 

Communications. 

The Imperial Legislative Council was enlarged and reformed. It became 

a bicameral legislature for all India. The lower house was the Legislative Assembly of 144 

members, of which 104 were elected and 40 were nominated and tenure of three years. 

The upper house was the Council of States consisting of 34 elected and 26 nominated 

members and tenure of five years 

�

23. Correct Answer is : (d) Unemployment allowance 

In economics, a transfer payment  (or government transfer  or simply transfer ) is 
a redistribution of income in the market system. These payments are considered to be non-
exhaustive because they do not directly absorb resources or create output. In other words, 
the transfer is made without any exchange of goods or services. Examples of certain 



transfer payments include welfare (financial aid), social security, and government 
making subsidies for certain businesses (firms).�

24.�Correct Answer is : (d) The President may return a bill for reconsideration 
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25. Correct Answer is : (a) Badruddin Tyabji 

Badruddin Tyabji was the first Muslim persident of INC. 

The Indian National Congress  (abbreviated INC, and commonly known as the Congress) is 

the oldest Political Party in India. Founded in 1885 with the objective of obtaining a greater 

share in government for educated Indians, the Indian National Congress was initially not 

opposed to British rule. The Congress met once a year during December. Indeed, it was a 

Scotsman, Allan Octavian Hume, who brought about its first meeting in Bombay, with the 

approval ofLord Dufferin, the then-Viceroy. 

Womesh Chandra Bannerjee was the first President of the INC. The first meeting was 

scheduled to be held in Pune, but due to a plague outbreak there, the meeting was later 

shifted to Bombay. The first session of the INC was held from 28–31 December 1885, and 

was attended by 72 delegates, Badruddin Tyabji and his brother Camruddin, Rahimtulla M. 

Sayani were among its delegates. 

List of Muslims who became president of The Indian National Congress before 

Independence of India. 

·  1. Badruddin Tyabji became President in 1887 INC Session - Madras 

·  2. Rahimtulla M. Sayani became President in 1896 INC Session - Calcutta 

·  3. Nawab Syed Muhammad Bahadur became President in 1913 INC Session - 

Karachi 

·  4. Syed Hasan Imam became President in 1918 INC Special Session - Bombay 

·  5. Hakim Ajmal Khan became President in 1921 INC Session - Ahamedabad 



·  6. Maulana Mohammad Ali became President in 1923 INC Session - Cocanada (now 

Kakinada) 

·  7. Maulana Abul Kalam Azad became President in 1923 INC Special Session - Delhi 

·  8. Dr.Mukhtar Ahmed Ansari became President in 1927 INC Session - Madras 

·  Maulana Abul Kalam Azad again become President of The Indian National Congress 

in 1940 - INC Session - Ramgarh and he was the President of Indian National Congress 

until 1946, he was the only person who served as president of INC for THE LONGEST 

PERIOD (7 years) before Independence. 
�

26. Correct Answer is : (d) Union of States 
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27. Correct Answer is : (d) 1, 2 and 3 
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28. Correct Answer is : (d) An increase in investment 

Gross National Product 
Gross national product (GNP), a measure of a nation's wealth, is also 
directly affected by federal taxes. An easy way to see how taxes affect 
output is to look at the aggregate demand equation: 

GNP = C + I + G + NX 

where: 

·  C = consumption spending by individuals 

·  I = investment spending (business spending on machinery, etc.), 

·  G = government purchases 

·  NX = net exports 

Consumer spending typically equals two-thirds of GNP. As you would 

expect, lowering taxes raises disposable income, allowing the consumer 

to spend additional sums, thereby, increasing GNP. 

29. Correct Answer is : (a) Loan for Bullock 
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31. Correct Answer is : (d) 1, 2 and 3 

The Non-Aligned Movement  (NAM) is a group of states which are not formally aligned with 

or against any majorpower bloc. As of 2012, the movement has 120 members and 

17 observer countries. 

The organization was founded in Belgrade in 1961, and was largely conceived by India's 

first prime minister, Jawaharlal Nehru; Burma's first Prime Minister U Nu; Indonesia's first 

president, Sukarno; Egypt's second president, Gamal Abdel Nasser; Ghana's first 

president Kwame Nkrumah; and Yugoslavia's president, Josip Broz Tito. All six leaders 

were prominent advocates of a middle course for states in the Developing World between 

the Western and Eastern Blocs in the Cold War. The phrase itself was first used to 

represent the doctrine by Indian diplomat V. K. Krishna Menon in 1953, at the United 

Nations.  

32. Correct Answer is : (c) V. R. Shinde 

Mahrshi Vitthal Ramji Shinde  (April 23, 1873 – January 2, 1944) was one of the most 

important social and religious reformers in Maharashtra, India. He was prominent among 

the liberal thinkers and reformists in India, prior to her independence. His greatest 



contribution was to remove the practice of untouchability and bring about equality to the 

depressed classes in Indian society. 

After returning from England in 1903, he devoted his life to religious and social reforms. He 

continued his missionary work for the Prarthana Samaj. His efforts were devoted mainly to 

the removal of untouchability in India. In 1905 he established a night school for the children 

of untouchables in Pune, and in 1906 he established the Depressed Classes 

Mission in Mumbai (Bombay). In 1922 the mission’s Ahalyashram building was competed at 

Pune. In 1917 he succeeded in getting the Indian National Congress to pass a resolution 

condemning the practice of untouchability. 

33. Correct Answer is : (b) Only 2 

The Fast Breeder Test Reactor  (FBTR) is a breeder reactor located 

at Kalpakkam, India. The Indira Gandhi Center for Atomic Research (IGCAR) and Bhabha 

Atomic Research Centre (BARC) jointly designed, constructed, and operate the reactor. 

It first reached criticality in October 1985, making India the seventh nation to have the 

technology to build and operate a breeder reactor after United 

States, UK,France, Japan, Germany, and Russia.  

34. Correct Answer is : (a) 4, 2, 1, 3 

Private Income: 

“Private income is the total of factor incomes and transfer incomes received from all sources 

by private sector (private enterprise and households) within and outside the country.” 

It also includes net factor income from abroad. Private Sector consists of private enterprises 

and households [factor owners). Thus, private income consists of not only factor incomes 

earned within the domestic territory and abroad but also all current transfers from 

government and rest of the world. In tills way it is the sum of earned incomes and transfer 

incomes received by private sector. 

Thus, the concept of private income is broader than that of personal income because 

private income consists of personal income + profit tax + undistributed profit. Again, it 

should be kept in mind that conventionally ‘net factor income from abroad’ is allocated to 

private sector and not to government sector. 



 

Difference between Private Income and Private Sector Income: 

Both are different. Private sector income includes only factor income earned by private 

sector within domestic territory whereas private income includes private sector income, 

NFIA and all current transfers from within and outside the country. Thus, private income is a 

national and broader concept whereas income from domestic product accruing to private 

sector is a domestic concept. 

 

Personal Income: 

“Personal income is the sum of earned income and transfer income received by persons 

(households) from all sources within and outside the country. The point to be noted here is 

that personal income includes not only factor incomes which are earned from productive 

services but also transfer incomes (or payments) which are received without rendering any 

productive service. Thus, personal income is the sum of earned incomes and current 

transfer incomes. In other words, it is a receipt concept as compared to national income 

which is an earning concept. 

It may be pointed out that national income is not the sum total of personal incomes since 

the former includes only earned incomes whereas the latter includes earned incomes as 

well as transfer incomes. Again, personal income is different from private income because o 

components of private income namely corporate tax and undistributed profit of corporate 

enterprise are not included in personal income. 

The reason is that corporate tax goes to the government and undistributed profit is retained 

by the company, i.e., these two items are not Received by households 

 

Disposable Income 

Another national account is disposable income (DI), which is simply personal income minus 

income taxes. That is what many people call take-home pay. Personal taxes include any 



type of tax which decreases the income that a person actually receives, such as income 

and inheritance taxes. Hence, disposable income is the money that people have to either 

spend or to save. 

35. Correct Answer is : (d) Typhoid 

The Widal test  is a presumptive serological test for enteric fever or undulant fever whereby 

bacteria causing typhoid fever are mixed with serum containing specific antibodies obtained 

from an infected individual. In case of Salmonella infections, it is a demonstration of the 

presence of O-soma false-positive result. Test results need to be interpreted carefully in the 

light of past history of enteric fever, typhoid vaccination, and the general level of antibodies 

in the populations in endemic areas of the world. Typhidot is the other test used to ascertain 

the diagnosis of typhoid fever. As with all serological tests, the rise in antibody levels 

needed to perform the diagnosis takes 7–14 days, which limits it applicability in early 

diagnosis. Other means of diagnosing Salmonella typhi (and paratyphi) include cultures of 

blood, urine and faeces. These organisms produce H2S from thiosulfate and can be easily 

identified on differential media such as Bismuth sulfite agar. 

36. Correct Answer is : (a) output at market prices 

DEFINITION OF 'VALUE ADDED' 
The enhancement a company gives its product or service before offering 

the product to customers. Value added is used to describe instances 

where a firm takes a product that may be considered a homogeneous 

product, with few differences (if any) from that of a competitor, and 

provides potential customers with a feature or add-on that gives it a 

greater sense of value. 

A value add can either increase the product's price or value. For 

example, offering one year of free support on a new computer would be 

a value-added feature. Additionally, individuals can bring value add to 

services that they perform, such as bringing advanced financial modeling 

skills to a position in which the hiring manager may not have foreseen 

the need for such skills. 



 

37. Correct Answer is : (d) Right to enjoy a pollution- free environment 

The division of human rights into three generations  was initially proposed in 1979 by 

the Czech jurist Karel Vasak at the International Institute of Human Rights in Strasbourg. He 

used the term at least as early as November 1977. Vasak's theories have primarily taken 

root in European law. 

First-generation human rights, often called "blue" rights, deal essentially with liberty and 

participation in political life. They are fundamentally civil and political in nature: They 

serve negatively to protect the individual from excesses of the state. 

Second-generation human rights are related to equality and began to be recognized by 

governments after World War II. They are fundamentally economic, social and cultural in 

nature. They guarantee different members of the citizenry equal conditions and treatment. 

Secondary rights would include a right to be employed injust and favorable condition, rights 

to food, housing and health care, as well as social security and unemployment benefits. 

Like first-generation rights, they were also covered by the Universal Declaration of Human 

Rights. 

Third-generation human rights are those rights that go beyond the mere civil and social, as 

expressed in many progressive documents of international law, including the 

1972 Stockholm Declaration of the United Nations Conference on the Human Environment, 

the 1992 Rio Declaration on Environment and Development, and other pieces of generally 

aspirational "soft law." Because of the present-day tilting toward national sovereignty and 

the preponderance of would-be offender nations, these rights have been hard to enact in 

legally binding documents. 

The term "third-generation human rights" remains largely unofficial, just as the also-used 

moniker of "green" rights, and thus houses an extremely broad spectrum of rights, including: 

·  Group and collective rights 

·  Right to self-determination 

·  Right to economic and social development 

·  Right to a healthy environment 

·  Right to natural resources 



·  Right to communicate and communication rights 

·  Right to participation in cultural heritage 

·  Rights to intergenerational equity and sustainability 

 

38. Correct Answer is : (d) A non violent transformation of the society, especially in rural 
areas 

 

 

39. Correct Answer is : (d) Baba Budangiri 

Iron-ore (hematite), vanadiferous and titaniferous magnetic, chaina clay, galena (lead ore), 

Kyanite, asbestos, steatite (soap stone) and quartzite constitute the principal mineral 



resources of Mayurbhanj district, of these the iron-ore deposits of Gorumahisani, 

Badampahar and Suleipat, which have been exploited for about half a century, deserve 

special mention. 

Banded Iron Formation (BIF) hosting the iron ores o ccur in three iron ore groups 

encircling the North Odisha Iron Ore Craton (NOIOC) , which is known as Iron Ore 

Super Group (IOSG) of Odisha. The famous Bonai Keon jhar belt is one of the three 

belts that forms an important part of the Archean s upracrustals of IOSG. BIF, the 

bicomponent rock along with iron ore has spatial an d vertical disposition with 

varying litho-morphological characteristics through out the belt. Lithological 

investigations are carried out in the mine sections  and exploratory bore hole logging 

of Bansapani, Jajang and Jilling areas of the easte rn limb of Bonai-Keonjhar belt. 

These observations are utilised to establish the li thostratigraphy of the banded iron 

formation bearing crustal blocks. 

Keonjhar is a land locked district with an area of 8240 km2. It is situated in the northern part 

of Odisha. The important minerals available in huge quantity in the district are Iron-ore, 

Manganese and Chromites. 

Baba Budangiri  (also known as Dattagiri ) is a mountain in the Baba Budan or Dattagiri 

range of the Western Ghatsof India. Located in the Chikkamagaluru District of Karnataka, 

Baba Budangiri is known for its shrine to the Sufi saintBaba Budan, a pilgrimage site for 

both Hindus and Muslims. 

40. Correct Answer is : (a) 1885-1905 
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44. Correct Answer is : (b) Ethylene 
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45. Correct Answer is : (d) Pusa Navbahar 
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46. Correct Answer is : (b) Igneous rock 
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47. Correct Answer is : (b) Net income from abroad 
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48. Correct Answer is : (d) Neither 1 nor 2 
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49. Correct Answer is : (d) 448 

The Constitution of India  is the supreme law of India. It is a living document, an instrument 
which makes the government system work. It lays down the framework defining 
fundamental political principles, establishes the structure, procedures, powers and duties of 
government institutions and sets out fundamental rights, directive principlesand the duties of 
citizens. It is the longest written constitution of any sovereign country in the world, 
containing 448 articles in 25 parts, 12 schedules, 5 appendices and 98 amendments (out of 
120 Constitution Amendment Bills). Besides the English version, there is an official Hindi 
translation. Dr. Bhimrao Ramji Ambedkar is widely regarded as the architect of the Indian 
Constitution. 



50. Correct Answer is : (a) Only 1 

The Constitution follows parliamentary system of government and the executive is directly 
accountable to the legislature. Article 74 provides that there shall be a Prime Minister of 
India as the head of government. It also states that there shall be a President of India and 
a Vice-President of India under Articles 52 and 63. Unlike the Prime Minister, the President 
largely performs ceremonial roles. 

51. Correct Answer is : (b) Allahabad 

On November 1, 1858, a grand Darbar was held at Allahabad. Here Lord Canning sent forth the 
royal proclamation which announced that the queen had assumed the government of India. This 
proclamation declared the future policy of the British Rule in India.  
�

52. Correct Answer is : (a) Rs. 9,000 
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53. Correct Answer is : (b) Goods and services 

A statement that summarizes an economy’s transactions with the rest of 
the world for a specified time period. The balance of payments, also 
known as balance of international payments, encompasses all 
transactions between a country’s residents and its nonresidents 
involving goods, services and income; financial claims on and liabilities 
to the rest of the world; and transfers such as gifts. The balance of 
payments classifies these transactions in two accounts – the current 
account and the capital account. The current account includes 
transactions in goods, services, investment income and current 
transfers, while the capital account mainly includes transactions in 
financial instruments. An economy’s balance of payments transactions 



and international investment position (IIP) together constitute its set of 
international accounts. 

54. Correct Answer is : (a) 15 

The agro-climatic zone planning aims at scientific management of regional resources to meet the food, 
fiber, fodder and fuel wood without adversely affecting the status of natural resources and environment. 
While assessing the resource base required is the holistic perspective, development will have to be 
achieved through an appropriate mix of crop production and allied activities including horticulture, 
forestry, animal husbandry and agro-processing etc. improved farming systems technologies will replace 
traditional crop production approach to minimize regional variations in rural incomes. 

With the 329 million hectares of the geographical area the country presents a large number of complex 
agro-climatic situations. However, for the purpose of this exercise, Planning Commission has delineated 
15 agro-climatic regions which were proposed to form basis for agricultural planning for the Eighth Plan. 
The 15 regions are: 

1. Western Himalayan Region 

2. Eastern Himalayan Region 

3. Lower Gangetic Plains Region 

4. Middle Gangetic Plains Region 

5. Upper Gangetic Plains Region 

6. Trans-Gangetic Plains Region 

7. Eastern Plateau and Hills Region 

8. Central Plateau and Hills Region 

9. Western Plateau and Hills Region 

10. Southern Plateau and Hills Region 

11. East Coast Plains and Hills Region 

12. West Coast Plains and Ghat Region 

13. Gujarat Plains and Hills Region 

14. Western Dry Region 

15. The Islands Region 

Among all these zones, wheat is being mainly cultivated in zones 1-9, and with low coverage in zones 10, 
13 and 14. 



 

55. Correct Answer is : (b) Poaceae 

Rice belongs to the genus Oryza, of the tribe Oryzeae, of the subfamily Bambusoideae or 
Ehrhartoideae, of the family Poaceae or Gramineae. The 2 cultivated species are Oryza 
sativa and Oryza glaberrima. As a result of genetic studies, many scientists believe that 
common wild rice, Oryza rufipogon, was the wild ancestor of Oryza sativa. 

According to PlantsDB and ITIS there are 7 accepted species of rice: 

Kingdom:  Plantae - Plants 
Subkingdom:  Tracheobionta - Vascular plants 
Superdivision:  Spermatophyta - Seed plants 
Division:  Magnoliophyta - Flowering plants 
Class:  Liliopsida - Monocotyledons 
Subclass:  Commelinidae 
Order:  Cyperales 
Family:  Poaceae - Grass family 
Genus:  Oryza L. - rice 

56. Correct Answer is : (d) There must be barrier to entry in the market  

Conditions for Perfect Competition 

When economists analyze the production decisions of a firm, they take 
into account the structure of the market in which the firm is operating. 
The structure of the market is determined by four different market 
characteristics: the number and size of the firms in the market, the ease 
with which firms may enter and exit the market, the degree to which 
firms' products are differentiated, and the amount of information 
available to both buyers and sellers regarding prices, product 
characteristics, and production techniques. 

 

Four characteristics or conditions must be present for a perfectly 
competitive market structure to exist. First, there must be many firms in 
the market, none of which is large in terms of its sales. Second, firms 
should be able to enter and exit the market easily. Third, each firm in the 
market produces and sells a nondifferentiated or homogeneous product. 



Fourth, all firms and consumers in the market have complete information 
about prices, product quality, and production 

57. Correct Answer is : (b) 1 and 2 
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58. Correct Answer is : (d) Master Tara Singh 

The Punjabi Suba movement  aimed at creation of a Punjabi-majority subah ("province") in 
the Punjab region of India in the 1950s. Led by the Akali Dal, it resulted in the formation of 
the Punjabi-majority Punjab state, the Hindi-majority Haryana state and the Union 
Territory of Chandigarh. Some Pahari majority parts of the East Punjab were also merged 
with Himachal Pradesh as a result of the movement. 

Master Tara Singh  (24 June 1885, Rawalpindi, Punjab – 22 November 1967, Chandigarh) 
was a prominent Sikh political and religious leader in the first half of the 20th century. He 
was instrumental in organising the Shiromani Gurdwara Prabhandak Committee, in 
organizing Sikhs politically, and guided the Sikhs during the Partition of India, and later led 
their demand for a Sikh-majority state in Punjab, India.The Indian journalist and 
politician Rajinder Kaur was his daughter 

59. Correct Answer is : (b) the rate of interest is about to fall  

Most investors care about future interest rates, but none more than 
bondholders. If you are considering a bond or bond fund investment, you 
must ask yourself whether you think interest rates will rise in the future. If 
the answer is yes then you probably want to avoid long-term maturity 
bonds or at least shorten the average duration of your bond holdings; or 
plan to weather the ensuing price decline by holding your bonds and 
collecting the par value at maturity.  



60. Correct Answer is : (a) 46 
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61. Correct Answer is : (b) 10-9 meter 

Nanoparticles  are particles between 1 and 100 nanometers in size. In nanotechnology, a 
particle is defined as a small object that behaves as a whole unit with respect to its transport 
and properties. Particles are further classified according to diameter. 

IUPAC definition 

Particle of any shape with dimensions in the 1 × 10�9  and 1 × 10�7  m range. 

62. Correct Answer is : (d) Jatropha 

Jatropha curcas  is a species of flowering plant in the spurge family, Euphorbiaceae, that is 

native to the American tropics, most likely Mexico and Central America. It is cultivated in 

tropical and subtropical regions around the world, becomingnaturalized in some areas. 

The specific epithet, "curcas", was first used by Portuguese doctor Garcia de Orta more 

than 400 years ago and is of uncertain origin. Common names include Barbados 

nut , purging nut , physic nut , or JCL(abbreviation of Jatropha curcas Linnaeus). 

J. curcas is a poisonous, semi-evergreen shrub or small tree, reaching a height of 6 m 

(20 ft). It is resistant to a high degree of aridity, allowing it to be grown in deserts.  

The seeds contain 27-40% oil (average: 34.4%) that can be processed to produce a high-

quality biodiesel fuel, usable in a standard diesel engine. The seeds are also a source of the 

highly poisonous toxalbumin curcin or jatrophin. 

63. ���������	
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�������������

Coolant system  
The function of a power reactor installation is to extract as much heat of 

nuclear fission as possible and convert it to useful power, generally electricity. 

The coolant system plays a pivotal role in performing this function. A coolant 



fluid enters the core at low temperature and exits at a higher temperature after 

collecting the fission energy. This higher-temperature fluid is then directed to 

conventional thermodynamic components where the heat is converted into 

electric power. In most light-water, heavy-water, and gas-cooled power 

reactors, the coolant is maintained at high pressure. Sodium and organic 

coolants operate at atmospheric pressure 

64. Correct Answer is : (a) Majhi 

The third largest tribes of India are the Santhal Tribe. This tribe habitation is mainly in the states 

of West Bengal, Bihar, Odisha, Jharkhand and Assam. They belong to the Pre -Aryan period 

and were the great fighters during the British regime in India. A bantam bunch comprising of the 

Santhals can also be traced back to Bangladesh. Santhals were brave and courgeous people 

who wagged war against the permanent settlement of Lord Cornwallis in 1855. 

Judicial System �

The judiciary system is well organised in traditional manner. It manages and gets solution to the 
problem inside the community. They make every effort to solve it among themselves within in 
the society. The Santhal Tribe head is called as Manjhi Hadam. He is considered as the chief of 
the judicial, executive and other function of society. Manjhi is helped by various others like 
Jagmangjhi, Jagparanik, Naike and Gudit who work in the other fields in diverse areas. 

65. Correct Answer is : (d) Lokur 

Article 366 (25) of the Constitution of India refers to Scheduled Tribes as those communities, who are 
scheduled in accordance with Article 342 of the Constitution. This Article says that only those 
communities who have been declared as such by the President through an initial public notification or 
through a subsequent amending Act of Parliament will be considered to be Scheduled Tribes.�

The list of Scheduled Tribes is State/UT specific and a community declared as a Scheduled Tribe in a 
State need not be so in another State/UT. The essential characteristics, first laid down by the Lokur 
Committee, are –�
• indications of primitive traits;�
• distinctive culture;�
• shyness of contact with the community at large;�
• geographical isolation; and �
• backwardness 
 

66. Correct Answer is : (d) Wildlife 

Wildlife Week:October - 2nd to 8th  



  

In the year 1952 with a view to preserve the fauna of India, particularly to take urgent steps to prevent 
extinction of any species, the Government of India established an Indian Board of Wild Life (IBWL).  The 
Board has since been doing pioneering work to arouse public consciousness in favour of wildlife 
preservation. 

From time immemorial, our wildlife has been closely associated with our legendary beliefs and our 
folklores, with our epics and our history. Our lives would be very much poorer without these varied forms 
that build up the balance of nature. Wildlife preservation in fact implies active and planned wildlife 
management under which all forms of life would progress side by side with human progress, each in its 
own sphere of influence and utility and without any detriment to human interests. In fact, it is with this end 
in view that wildlife sanctuaries and national parks have been established and developed in suitable 
localities all over the country. 

Therefore, in order to arouse a general awakening in the common man in favour of protection of wildlife, 
the Indian Board of Wild Life (IBWL) decided to observe the Wildlife Week and since then from October 2 
- 8 every year organize different activities related to wildlife conservattion to commemorate this week. 

67. Correct Answer is : (a) Only 1 

R&AW has been organised on the lines of the CIA. The head of R&AW is designated 
"Secretary (Research)" in the Cabinet Secretariat. Most of the previous chiefs have been 
experts on either Pakistan or China. They also have the benefit of training in either the USA 
or the UK, and more recently in Israel. The "Secretary (R)", although is under direct 
command of Prime Minister, reports on an administrative basis to the Cabinet Secretary, 
who reports to the Prime Minister (PM). 

68. Correct Answer is : (c) Both 1 and 2 
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69. Correct Answer is : (a) 330 and 332 

��������		&��
�����
�
��������
�����
���������

11=��A���	������������������	���
�������&������������
�� ������	�
�������
��
����������
��*������
064��������
����
��	���	��������
������������
��*��������	�
0�4��
����
�������&�����5�
0
4��
����
��������	�
����(������
����
��������	�
�������
�������� ���������	�����
���%����5�����
0�4��
����
��������	�
�������
�����������������	��������%�����
�

��������		7��
�����
�
��������
�����
���������

117��A���	������������������	���
�������&������������
�� ������	�
�������
��
������������%����
���������
���������
064��������
����
��	���	������	��
����
�������&�����������
����
 ��������	�
����
�(������
����
��������	�
�������
���	�
����	�������%���� ���������������������
#��
�����������
��������������%����
���������	��������
�

70. Correct Answer is : (b) 7 
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71. Correct Answer is : (b) Only 2 

Tadoba Andhari Tiger Reserve  is a Tiger reserve in Chandrapur 
district of Maharashtra state in central India. It is notable as Maharashtra's oldest and 
largest National Park. It is one of India's 43 "Project Tiger" - Tiger reserves�

72. Correct Answer is : (b) Haldi ghat 
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73. Correct Answer is : (c) Lord Lytton  

The charter Act of 1833 had declared all offices in India were open to merit irrespective of the nationality 
and color. Again the charter Act of 1853 had provided for the holding of the competitive examination in 
London for the recruitment to the higher services under the company. In 1864, Satyentdranath Tagore 
was the first Indian to qualify the covenanted service. However lord Lytton proposed a straightforward 
course of closing the Civil Services to the Indians. However the Home Authorities in England did not 
favorably grant the idea of Lytton. Lord Cranbrooke, the secretary of state thought of legislation to 
separate the black from the white. Lytton then proposed for the plan of the Statutory Civil Service in 1878-



79. According to the rules laid by the statutory Civil Services the Government of India could employ some 
aristocratic Indians to the statutory Civil Service on the recommendations of the provincial governments 
and subject to the confirmation of the secretary of State. The Act of 1879, also proposed that the number 
of such appointments would not exceed one sixth of the total appointments made to the Covenanted 
services.  
 
The Statutory Civil Service did not have the same status and salary like the Covenanted services. The 
statutory Civil Service did not prove popular among the Indian subjects and had to be abolished eight 
years later. The Secretary of state did not agree to Lytton's proposal of closing the covenanted Service to 
the Indians. However the steps were adopted to discourage Indians for competing by reducing the 
statutory Civil Service age limit of the examination from 21 to19 years.  

Lord Lytton 1876-1880 
 

The Indian Arms Act of 1878 was legislated during Lord Lytton’s time. By this act, no Indians 
could keep unlicensed arms. However, the English people could hold arms without license. Lord 
Lytton also was responsible for the economic distress caused by abolishing the Tax on the 
foreign cotton coming to India, to safeguard the British Traders. The maximum age to enter in to 
the Civil Services Examination was reduced from 21 years to 19 years. 

 

74. Correct Answer is : (c) the supply of money 
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75. Correct Answer is : (d) All the above 
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76. Correct Answer is : (d) None of these 
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77. Correct Answer is : (b) 2 nd February 2006 
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78. Correct Answer is : (c) 371 

Part XXI: Temporary, Transitional and Special Provi sions 



�  Article 369: Temporary power to Parliament to make laws with respect to certain matters in the 

State List as if they were matters in the Concurrent List 

�  Article 370: Temporary provisions with respect to the State of Jammu and Kashmir 

�  Article 371: Special provision with respect to the States of Maharashtra and Gujarat 

�  Article 371A: Special provision with respect to the State of Nagaland 

�  Article 371B: Special provision with respect to the State of Assam 

�  Article 371C: Special provision with respect to the State of Manipur 

�  Article 371D: Special provisions with respect to the State of Andhra Pradesh 

�  Article 371E: Establishment of Central University in Andhra Pradesh 

�  Article 371F: Special provisions with respect to the State of Sikkim 

�  Article 371G: Special provision with respect to the State of Mizoram 

�  Article 371H: Special provision with respect to the State of Arunachal Pradesh 

�  Article 371I: Special provision with respect to the State of Goa 

 
 
79. Correct Answer is : (b) Granite rock 
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80. Correct Answer is : (c) Todas 
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81. Correct Answer is : (b) 1965 
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82. Correct Answer is : (b) decreed as money by the government 

 Fiat money  is currency which derives its value from government regulation or law. The 

term derives from the Latin fiat ("let it be done", "it shall be"). It differs from commodity 

money and representative money. Commodity money is based on a good, often a precious 

metal such as gold or silver, which has uses other than as a medium of exchange, while 

representative money is a claim on the commodity rather than the actual good.  

The first use of fiat money was recorded in China around 1000 AD. Since then, it has been 

used continuously by various countries, concurrently with commodity currencies. 

Fiat money has been defined variously as: 

·  Any money declared by a government to be legal tender.  



·  State-issued money which is neither convertible by law to any other thing, nor fixed 

in value in terms of any objective standard. 

·  Intrinsically valueless money used as money because of government decree.  

While gold- or silver-backed representative money entails the legal requirement that the 

bank of issue redeem it in fixed weights of gold or silver, fiat money's value is unrelated to 

the value of any physical quantity. A coin is fiat currency to the extent its face value, value 

defined in law, is greater than its market value as metal.  

83. Correct Answer is : (a) 12 
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84. Correct Answer is : (c) 40 % 
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Together, soybean oil and protein content account for about 60% of dry soybeans by weight 
(protein at 40% and oil at 20%). The remainder consists of 35% carbohydrate and about 
5% ash. Soybean cultivars comprise approximately 8% seed coat or hull, 
90% cotyledons and 2% hypocotyl axis or germ. 

85. Correct Answer is : (a) Carbon 

A fullerene  is a molecule of carbon in the form of a hollow sphere, ellipsoid, tube, and many 
other shapes. Spherical fullerenes are also called buckyballs , and they resemble the balls 
used in football (soccer). Cylindrical ones are called carbon nanotubes or buckytubes. 
Fullerenes are similar in structure to graphite, which is composed of 
stacked graphene sheets of linked hexagonal rings; but they may also contain pentagonal 
(or sometimes heptagonal) rings 

86. Correct Answer is : (d) Uttar Pradesh 

 Regur Soils are black in colour and are also known as 'black soils'. Since they are perfect for growing 
cotton, they are also called cotton soils. These soils are most characteristic of the Deccan trap (Basalt) 



region, spread over the north-west Deccan plateauand are made up of lava flows. They cover the 
plateaus of Maharashtra, Saurashtra, Malwa and southern Madhya Pradesh and continue eastwards in 
the south, along the Godavari River and Krishna River Valleys. In their creation, climatic conditions are 
immensely important just like their parent rock materials. Hence they lengthen much further than the 'tava' 
plateau itself.  
 
Black soils are exceptionally delicate. Owing to the high proportion of clay, Regur soils are sticky when 
wet and consequently becomes difficult to plough. They are well-known for their ability to retain moisture. 
In addition, they are prosperous in soil nutrients, like calcium carbonate, magnesium carbonate, potash 
and lime. They are usually poor in phosphoric content. They develop thick fissures in the field during hot 
weather. This helps in their ventilation; hence their self ploughing eminence. This soil is viscous and 
unmanageable to work, unless tilled without delay, after the first or pre-monsoon showers.  
 
Regur soils develop under semi-arid conditions specifically in the areas that are covered with basalt. In 
the southern region of Tamil Nadu, granites and gneisses with iron content also form black soils under the 
required semi-arid climatic conditions. Regur soils are formed in Suratand Broach districts and also in the 
Narmada Valley and Tapti Valley. In these regions, humus is almost absent in the soil and black colour of 
the soil is because of the presence of certain salts. In the hilly region of the country, Black soils are 
usually thin, poor and sandy.  

87. Correct Answer is : (a) 1 only 

Coffee producing countries are located between the tropics of Cancer and Capricorn, as the plant 
requires a warm and humid climate (22-25c). Growing in tropical regions, the plant needs moist 
air, high temperature and daily rainfall to make it flourish and flower. 

The tea plant thrives in tropical and subtropical regions — which is why countries such as India, 
China, Sri Lanka, Kenya and Indonesia are among the leading producers of tea leaves."Coffee is 
easily grown from seed though starting off with a plant is of course much easier. If you want to 
give it a shot, you can find coffee seeds at The Seed Rack (The Whatcom Seed Company). 

Propagation 
You can propagate tea from cuttings or from seeds. According to the flier I received with my 
seeds from Whatcom Seed Company: “Sow seeds 3/4” deep in standard soil mix with coarse 
sand added. Keep damp. Ideal night temperature of 55F, day 68F. High humidity and filtered 
sun. Fertilize often. Ideal pH 5-6.”  
Cultivation 
Plants should be placed approximately 3 feet apart in a sunny to semi-shaded area. Plant them so 
that a house, wall, tree, or something else will protect them from strong wind. They should be 
pruned back every four years to rejuvenate the bush and keep it at a convenient height. 

88. Correct Answer is : (b) Babul 
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89��Correct Answer is : (c) Downloading as well as uploading 

Short for File Transfer Protocol, the protocol for exchanging filesover the Internet. FTP works in the same 

way as HTTP for transferring Web pages from a server to a user's browser andSMTP for 

transferring electronic mail across the Internet in that, like these technologies, FTP uses the 

Internet's TCP/IP protocols to enable data transfer. 

FTP is most commonly used to download a file from a server using the Internet or to upload a file to a 

server (e.g., uploading a Web page file to a server). 
�

90. Correct Answer is : (d) 1 and 2 

The World Nature Foundation  (WWF) is an international non-governmental 
organization founded on April 29, 1961, and is working on issues regarding 
the conservation, research and restoration of the environment. It was formerly named 
the World Wildlife Fund , which remains its official name in Canada and the United States. 
It is the world's largest conservation organization with over 5 million supporters worldwide, 
working in more than 100 countries, supporting around 1,300 conservation and 
environmental projects. WWF is a foundation, in 2010 deriving 57% of funding from 
individuals and bequests, 17% from government sources (such as the World 
Bank,DFID, USAID) and 11% from corporations. 

91. Correct Answer is : (a) solar cell 



 

�

92. Correct Answer is : (b) Violet 
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�C�� Correct Answer is : (d) Children 
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94. Correct Answer is : (b) Swami Ramanand 
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95.  Correct Answer is : (c) Thakkar Bapa 
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96. Correct Answer is : (a) 50  

 



�

97. Correct Answer is : (d) 1, 2 and 3 

Harijan Sevak Sangh  is a non-profit organisation founded by Mahatma Gandhi in 1932 to 
eradicate untouchability in India, working for Harijan or Dalit people and upliftment 
of scheduled castes of India. It is headquartered at Kingsway Camp in Delhi, with branches 
in 26 states across India. 

After the Second Round Table Conference, British government agreed to gave Communal 
Award to the depressed classes on the request of B. R. Ambedkar. Gandhi opposed the 
government's decision which he considered it would divide the Hindu society and 
subsequently went onto the indefinite fast in Yerwada Jail. He ended his fast after 
signed Poona Pact with Ambedkar on 24 September 1932. On 30 September, Gandhi 
founded All India Anti Untouchability League, to remove untouchability in the society, which 

later renamed as Harijan Sevak Sangh (Hindi: ����� ����	 ��
� , "Servants of Untouchables 



Society"). At the time industrialist Ghanshyam Das Birla was its founding president 
with Amritlal Takkar as its Secretary. 

98. Correct Answer is : (a) Justice Dhar 

 Dhar Commission  

There was a demand from different regions, mainly South India, for reorganization of  
States on linguistic basis. Consequently, in June 1948, the Government of India appointed 
the Linguistic Provinces Commission under the chairmanship of S.K.Dhar to study the 
feasibility of organizing states on Linguistic basis. 

 

The Commission, later on, rejected the linguistic basis of reorganization of States and 
recommended the reorganization of States on the basis of following criterias : 

1. Geographical contiguity 

2. Financial self-reliance 

3. Administrative viability 

4. Potential for development  

99. Correct Answer is : (d) Vitamin D - Sterility  

Vitamin D is essential for strong bones, because it helps the body use calcium from the diet. 
Traditionally, vitamin D deficiency has been associated with rickets, a disease in which the 
bone tissue doesn't properly mineralize, leading to soft bones and skeletal deformities. But 
increasingly, research is revealing the importance of vitamin D in protecting against a host 
of health problems. 

Vitamin E  deficiency  causes nerve problems due to poor conduction of electrical impulses 
along nerves due to changes in nerve membrane structure and function. T here is also 
some laboratory evidence that vitamin E deficiency can cause male infertility��

100. Correct Answer is : (c) Stone fish 
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